raw
run: 'HSC/raw/all'
instrument = HSC
detector = 41
exposure = 322

transmission_sensor
run: 'HSC/calib/DM-28636/unbounded'
instrument = HSC
detector = 41

camera
run: 'HSC/calib/DM-28636/unbounded’
instrument = HSC

yBackground
run: 'HSC/calib/gen2/20180117/unbounded'
instrument = HSC
detector = 41
physical_filter = HSC-Y

transmission_filter
run: 'HSC/calib/DM-28636/unbounded'
instrument = HSC
physical_filter = HSC-Y

fringe

run: 'HSC/calib/gen2/20180117/20140325T000000Z'

instrument = HSC
detector = 41
physical_filter = HSC-Y

run: 'HSC/calib/DM-28636/unbounded'

transmission_optics

instrument = HSC

T,

run: 'HSC/calib/DM-28636/unbounded'

bfKernel

instrument = HSC

srcMatch
run: None
instrument = HSC
detector = 41
visit = 322

icExp
run: None
instrument = HSC
detector = 41
visit = 322

calexpBackground
run: None
instrument = HSC
detector = 41
visit = 322

1f4¢23a0-4089-4042-bdb9-b3a491b43465

1ST
instrument = HSC
detector = 41
exposure = 322

bias

run: 'HSC/calib/gen2/20180117/20140329T000000Z

instrument = HSC
detector = 41

transmission_atmosphere
run: 'HSC/calib/DM-28636/unbounded'
instrument = HSC

dark

run: 'HSC/calib/gen2/20180117/20140131T000000Z

instrument = HSC
detector = 41

flat

run: 'HSC/calib/gen2/20180117/20140325T000000Z

instrument = HSC
detector = 41
physical_filter = HSC-Y

defects

run: 'HSC/calib/DM-28636/curated/20130131T000000Z'

instrument = HSC
detector = 41

N

postISRCCD
run: None
instrument = HSC
detector = 41
exposure = 322

l

1sr_metadata
run: None
instrument = HSC
detector = 41
exposure = 322

1bc196¢6-1b7e-47ce-80b1-9df82502£873

characterizelmage
instrument = HSC
detector = 41

visit = 322
/ v
icSrc icExpBackground
run: None run: None

instrument = HSC
detector = 41
visit = 322

—

/

instrument = HSC
detector = 41
visit = 322

l

isr_log
run: None
instrument = HSC
detector = 41
exposure = 322

characterizelmage_metadata

run: None

mstrument = HSC
detector = 41

visit = 322

0c58e0cb-152b-4¢cb6-9622-16090d94bcda

calibrate
imnstrument = HSC
detector = 41
visit = 322

\

srcMatchFull
run: None

instrument = HSC

detector = 41
visit = 322

—

Src
run: None
imstrument = HSC
detector = 41
visit = 322

N

calexp
run: None
instrument = HSC
detector = 41
visit = 322

characterizelmage_log
run: None
instrument = HSC
detector = 41
visit = 322

psl_pv3_3pi_20170110
run: refcats/DM-28636'
htm7 = 231858

psl_pv3_3pi_20170110
run: refcats/DM-28636'
htm7 = 231869

calibrate_metadata
run: None
instrument = HSC
detector = 41
visit = 322

calibrate_log
run: None
instrument = HSC
detector = 41
visit = 322




